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Figure WXYZ on the coordinate grid below is a square.
1. What is the perimeter of WXYZ? 2. What is the area of WXYZ?

A. 241 units A. 25 units’
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3. Given AFGH , find each of the following: N

Perimeter = B+ &+ 8J2 = |lb+ 8)2

Area = 11(9)(8) = {_’;—2_

. . 3 3.
4. Aline thatis parallelto y = Zx —9 has a slope of ] g

3
5. Aline that is perpendicular to §§y =11-8x has a slope of 2
3 ¥
" oo
6. A line that is parallel to y_13' hasa I ope of _Z€ro .
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7. Whrch describes the lines x -2y =—6 and 4y +4 =2x7

parallel '5;2?1 = :: _l; %‘1 %,_4 -y
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8. Write the,_equatlon of the line that is parallel to g_y x+12 and passes through the point (6 8)

Slopeaz as y=3x+b y—Bx ~
; -l‘hmuShL(éa - 3(@)449 o Y' 3 X-10
5 ~e=2+¢+b [-l0=b ] _
9. Write the equatlon of the fine thatTs perpendlcular to y— 7 and passes through the point (— 2; —2).
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10. The endpoints of line segment XY are X(— 6, 2) and )’(6, l()).
1 x. Y’ x]- y: \-{
a) Find the point P that is —_of the distance from X to Y. @
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b) Find the point Q that partitions XYin a ratio of 3:1. 3

Same as“3 Y
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3 The diagram on the right represents a park with a grid

imposed on it. Each unit length on the grid represents 1 foot.
The point S represents the planned placement for a sprinkler :
head that sprays water in a circle. The point F represents a . " a5t

flowerbed. If the sprinkler has a radius of 6 feet, will water 1 \ PN N

from the sprinkler reach the flowerbed? Explain your answer. P T ‘0
SPrink[Cl’ (2' 1) Flowerbed (—'-Il-'—l) - Fa ™S

d=JE4-2)*+ (-4-1)* , \ I
2 ) NO, Hhe sprinkler can only gpyr
A=V ol s) o.od\‘s’r:ncepaF © £+ a.uJag...i:‘g.

d=4y 30+ 25 +he flower bed is about 7.8 £+.
12, d=J6l auoy-
d=19 { P
Triangle GHJ is shown on the coordinate grid. | N ’
Is AGHJ aright triangle? Explain your answer, 1 =

11
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1T = 5
Slope of HI = 3 opp eciproeads

This meons LT is oo

Slope & 63:_% rignt L.

AGHRT 15 o rtgh—k A becouse
GJ and HJ have siopes W |
ore oPPosHe rcalpmm%s-‘”h‘d‘ @
means +hey form o ryght L.



